Suzi’'s Company

This problem gives you the chance to:
- calculate and interpret mean, medium and mode in a given table of realistic data

T1

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual

salaries.

} Job Title N’;:':;l;of Annual salary Total

' Chief Exceutive 1 $100 000 $100 000
Marketing Manager 1 $80 000 § 0000
Production Manager 1 $80 000 § 80000 v ’
Technician 3 $50 000 $150 000
Office worker 2 $40 000 $80 000 _
Assembly worker 5 $30 000 H\B0 oo |
Cleaner 2 $20 000 33\\0 006}/ ’

Total 15 Total g?QQa(LOOQ ,

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question 1a to calculate the mean annual salary for the 15 employees in the

company. Give your answer correct to the nearest $.

Show your calculations.

OO
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2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
a year.”

a. What mistake has John made?

i

00 \ I
Mwwmm%,
faged ek tuahn. .
b. W_hat is the correct mode of the salary? %/ QOO0 v /
3. a. What is the median annual salary at TechScale? & %\C)OO e {

b. Explain how you figured it out.

O, 40O, B )
“r’m NVMDexr s, /
4. Which of the three averages, mean, median or mode, would you use to show that the average /
wage at TechScale is very good"
PN /

Explain your answer.

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change?

Mo e

)
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Suzi’s Company T2
This problem gives you the chance to:

« calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in,the company. The table shows the jobs and their annual

salaries. GG (e s OO
Job Title N’;’::pel; of Annual salary Total

Chief Executive 1 $100 000 $100 000

Marketing Manager 1 $80 000 0,00 O

Production Manager 1 $80 000 | @O ‘Q@O /

Technician 3 $50000 ~ $150000 | D

Office worker 2 $40 000 “ $80 000

Assembly worker 5 $30 000, \é LOO ¥

Cleaner 2 $20 000 9 Vo LOOO /
Total 15 Total |\ \ 5/ SO0 )| 5

\ N
1. a. Complete the final column of the table to find the total annual salary bill for TechScalD

b. Use your answer to question 1a to calculate the mean annual salary for the 15 employees in the
company. Give your answer correct to the nearest $.
Show your calculations. '

5[305000 o 4 M

_BU5000 :‘5%4)/5/5
S
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T2

2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
ayear.”

a. What mistake has John made?

60\(\“(\ O‘O\\ll \,00’69& oX  one  coluwm
when o veeded Yo £id ok

o 4

420000 _

ch\&\ :

b. What is the correct mode of the salary?

1

3. a. What is the median annual salary at TechScale? £ L“‘@ L@O O /

b. Explain how you figured it out.

/_E \ine N O e ﬂum)oe:{é “\VL/
odef  Hhen  Lownd e 7™ viumber

\\‘15 S!X!g ‘2!!5 ¥!{§<)k 85 &y !e Ik]@ !Q.v\,

4. Which of the three averages, mean, median or mode, would you use to show that the average l .‘C[—

wage at TechScale is very good? , 3 AN /\

Explain your answer.

N4 DQ' - : / (f

Xendenet 14, W Oex . Ao Alhe.  oihery

W AYle  case.. ‘ /

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change?

MNoAE.
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Suzi’s Company

This problem gives you the chance to:
« calculate and interpret mean, medium and mode in a given table of realistic data

T3

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual

salaries.
Job Title ngobéof Annual salary Total

Chief Executive 1 $100 000 $100 000

Marketing Manager 1 $80000 | % 20 000 /

Production Manager 1 $80000 | & 0 oOOD |/

Technician 3 $50 000 $150 000

Office worker 2 $40 000 $80 000

Assembly worker 5 $30000 | §\gso oDO /

Cleaner 2 520000 | 540 000 | |
Total 15 Total | % (, 30 Q00|/

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question 1a to calculate the mean annual salary for the 15 employees in the
company. Give your answer correct to the nearest §$.

Show your calculations.

3
100,000
30 000

30' 000
\SO(OOO
30,00 O

( 50/00 O
40,000

j;f(‘,%0,000
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SN 3

2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
ayear.”

a. What mistake has John made?

His wmistYa¥e wWos *ho¥t e  counted & [

O\m\7u fox one peYson an d noY Loy v/

othevg.
)
b. What is the correct mode of the salary? 815 0,0 S1; X
3. a. What is the median annual salary at TechScale? i {\S0D.000 X 0

b. Explain how you figured it out.

Fivst T ‘DU\{ Yhe numbers  on o d=y

fvom  zonolles¥y ko \A\’g{g and  then

x 0
Lfound  what  ~uwmbey S N +he y ddle

o¥ +he S-&‘}Y o+ hU\\m\o—Q‘(S.

4. Which of the three averages, mean, median or mode, would you use to show that the average
wage at TechScale is very good? ) ‘

Explain your answer.

Th&' m2 Adiloan pnumbex B \ SOI,DD shows

about +h < 0\\L—(‘(0g3 2S ay TechScolr 3< 0

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change?

The wode and +ha rwedion. X ©
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Suzi’s Company ,,,i., 4

This problem gives you the chance to: ‘
« calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual
salaries.

Job Title Nl;ZIObReILOf Annual salary Total
Chief Executive 1 $100 000 $100 000 ‘
Marketing Manager _ 1 $80 000 f90 000 |7
Production Manager 1 $80 000 'ﬁqO 0|/
Technician 3 $50 000 $150 000 ]
Office worker 2 $40 000 $80 000
Assembly worker 5 $30 000 &{ 50 000 /
Cleaner 2 $20 000 §40 000/
Total 15 Total %‘ 590 000 | ¥

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question la to calculate the mean annual salary for the 15 employees in the {_
company. Give your answer correct to the nearest $. —_— [ (6 ';
$ 2233, 3 (¢

Show your calculations. f
# 590 oo = \<
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2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
a year.”

a. What mistake has John made?

Toho did Ml rnode  becguse. $10000
has 3 salary a5 o Aotal x O

$s0000 X O

b. What is the correct mode of the salary?

3. a. What is the median annual salary at TechScale? ﬂ %— O OO(‘) X O

b. Explain how you figured it out.

In +the ANNURL SALARY column  §/00,000
S 1he [ar%&ﬁ G\(\A ﬁZO 000 & +lre X @),

s St Hhen Voo oo Yo tne Sccaux?.d
nollest and LiogesY on <o on il
X%})k gexr Yo ~‘Qi, e \Lo |

4. Which of the three averages, mean, median or mode, would you use to show that the average

wage at TechScale is very good? MO 600 \/\ _ [ '{E

Explain your answer.

b-QC&\)SQ NOUL hoaue 2 oY of \& chance
Qo gel iQ0 coo X 0

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change? / [

Modeo.
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Suzi’s Company T 5
This problem gives you the chance to:

* calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual
salaries.

[ Job Title NZZ;;; of Annual salary Total

Chief Executive 1 N $100 000 $100 000

Marketing Manager 1 \ $80 000 ﬁ ?SO m: v/

Production Manager 1 \ $80 000 ﬁ]@ O Q o /

Technician 3 \\\ $50 000 $150 000

Office worker 2 N$40 000 $80 000

Assembly worker 5 AN\ $30 000 4 l[j\')L v ‘

Cleaner 2 ) $20 000 £ L0000V
Total 15 Toal |y (G300 000,/

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question 1a to calculate the mean annual salary for the 15 employees in the
company. Give your answer correct to the nearest $.
54523 33 ©

v

Show your calculations.

\00,000 %0000+ 1D

, 60 0 =
Igg, gg O RUE33 55

%o, 000
<0, 000
4 LiofC)()o

"9 630000
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TS5

2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
ayear.”

a. What mistake has John made?

He did the dotal oSt of the ab

ond didn't 002 by th Qumber of

people and he., g Nual salar . $ 30,000
$30000 !

b. What is the correct mode of the salary?

3. a. What is the median annual salary at TechScale? ﬁL\ OLOQO l/

b. Explain how you figured it out.

Hur¢ vas /

qo,@oo Ho,000, 30, 9(20 30, oos 30, oao zo,aoa zo oo

4. Which of the three averages, mean, median or mode, would you use to show that the average /

wage at TechScale is very good? m e O\m /

Explam your answer.

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year. /

Which of the averages (mean, median and mode) will not change? /

Moce
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Suzi’s Company S1
This problem gives you the chance to: .

» calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual
salaries.

Job Title Number of Annual salary Total
people .
Chief Executive 1 $100 000 $100 000
Marketing Manager 1 $80 000 8_@ QLOQ J {
Production Manager 1 $80 000 —~
£x0 000
Technician 3 $50 000 $150 000
Office worker 2 $40 000 $80 000
Assembly worker 5 $30000 \SD o0 |,
Cleaner 2 $20000 | O OOQ |
Total Total | \6R IXOQ |/

\QL\}\@%Q”E‘Q, ~f\ ;?5\0 L@,q\b\%
5@ %9*50\80(90’

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question 1a to calculate the mean annual salary for the 15 employees in the
company. Give your answer correct to the nearest $.

| $ UG B
Show your calculations.

R0 + \5 = 45335 Y

|
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2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
ayear.”

a. What mistake has John made?

v
b. What is the correct mode of the salary? 230—*-0—9—0——

3. a. What is the median annual salary at TechScale? L{O,Q(‘) ) \/ (
b. Explain how you figured it out.

4. Which of the three averages, mean, median or mode, would you use to show that the average
wage at TechScale is very good? v {

. TrEaN
Explain your answer.

Ecmpi_d;s_;?ud_h@bﬁt Mo ouA  of }

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year. )
Which of the averages (mean, median and mode) will not change?

‘ ~ ; \ St

Nuvneol ™MO yywokker wWeok .
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Suzi’s Company
This problem gives you the chance to: 82

- calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual
salaries.

Job Title Ngobgl:of Annual salary Total
Chief Executive 1 $100 000 $100 000
Marketing Manager 1 $80 000 g0, 00 o
Production Manager 1 $80 000 74 DLQO O
Technician 3 $50 000 $150 000
Office worker 2 $40 000 $80000 |,
Assembly worker 5 $30 000 \50 L()bo
Cleaner 2 $20 000 0 &QO 4

Total 15 Toral | {140, 0DD

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question la to calculate the mean annual salary for the 15 employees in the
company. Give your answer correct to the nearest $. -
s 45325,

/

Show your calculations.

R0, OO

g A
5 492552
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S2

2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
ayear.”

a. What mistake has John made?

One of Y ma‘ntl stanc( dolays is dividey
betwesn A DPQD\GL 4 ©

b. What is the correct mode of the salary? % Q 00
3. a. What is the median annual salary at TechScale? %B ;QQO X 0
b. Explain how you figured it out.

;

M the . middlp

4. Which of the three averages, mean, median or mode, would you use to show that the average / ﬁé

wage at TechScale is very good? /\
i\ !Ug e

Explain your answer.

e RN s Y9225 . The. redian  im SO0,

The, Moae S j;b(ju)g’!h@ made fgbmﬁ [0
e  ONSyaaf.
)

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change?

Mede /
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Suzi’s Company 83

This problem gives you the chance to:
- calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual
salaries. :

Job Title N ’;’Zf; of Annual salary Total

Chief Executive 1 $100 000 $100 000 .
Marketing Manager 1 $80 000 $ 80,"& va V) “
Production Manager 1 $80 000 $ 80,000/ |
Technician 3 $50 000 $150 000 |- |
Office worker 2 $40 000 $80 000 ‘é 3 20;
Assembly worker 5 $30000 | 180,000 /
Cleaner 2 | $20 000 340,000 5

Total 15 Total | $ 20,00 0 <

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question la to calculate the mean annual salary for the 15 employees in the

company. Give your answer correct to the nearest $.
, $ 59,75
Show your calculations. o

%
655 e
15T§ﬁ57:§§ %

Vo £t
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* S3

2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
ayear.”

a. What mistake has John made?

. ., Tobn_ koraet o brea up +he
totals Yoy riumiee’” o% geope- He ?or;:)o‘\' A e0ch
total Salawy 1S POt Phan yust ore (Jersofhl/ /

$20000 /|

b. What is the correct mode of the salary?

<%"\‘O/CJCND 4

3. a. What is the median annual salary at TechScale?

b. Explain how you figured it out.

L broke up e solewies oy the pumber of people
et wexe in Hem . Then T Caivn ~y {-'mcags) /

ey Sor e guede 4o e cevdry.

4. Which of the three averages, mean, median or mode, would you use to show that the average /

wage at TechScale is very good? m o /
. Explain your answer.
Becowse. 4 is Yhe \\g\ﬁeﬁf Ouwsoer, /

v’

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

/

Which of the averages (mean, median and mode) will not change?

Mocle. v
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Suzi’s Company S 4
This problem gives you the chance to:

+ calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual
salaries.

Job Title Number of Annual salary Total
people
Chief Executive 1 $100 000 $100 000

Marketing Manager 1 $80 000 ® a) Cﬂ:) \/
Production Manager 1 $80 000 &e() m '

Technician 3 $50 000 $150 000
Office worker 2. $40 000 $80 000
Assembly worker 5 $30 000 @ \Fi) ) 00 /
Cleaner 2

$20 000 0 o0
Total 15 rotal A0 . (0O

1. a. Complete the final column of the table to find'the total annual salary bill for TechScale.

/

b. Use your answer to question la to calculate the mean annual salary for the 15 employees in the

company. Give your answer correct to the nearest $.
| s 4000 \0

Show your calculations.
04526610 * 0

ol

—————————

5

———————

66\11
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S4

2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
ayear.”

a. What mistake has John made?

b. What is the correct mode of the salary? mﬁm—
3. a. What is the median annual salary at TechScale? m‘f@_—

b. Explain how you figured it out.

4. Which of the three averages, mean, median or mode, would you use to show that the average

wage at TechScale is very good? : E" :‘ / / ‘F t’

Explain your answer.

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.
Which of the averages (mean, median and mode) will net change? ’

e, /
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Suzi’s Company S 5
This problem gives you the chance to:

« calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual
salaries.

Job Title NZ::;IZOf Annual salary Total

Chief Executive 1 $100 000 $100 000
Marketing Manager 1 $80 000 & 80 oo |/ .
Production Manager 1 $80 000 (ﬁ % 000 ’
Technician 3 $50 000 $150 000
Office worker 2 $40 000 $80 000
Assembly worker 5 $30 000 ﬁ \S00 OO /
Cleaner 2 $20 000 M 0000

Total 15 Total {09 000 i ,

%% 338 XM q/%.:‘a,,i

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question 1a to calculate the mean annual salary for the 15 employees in the
company. Give your answer correct to the nearest $. ,
s 452> 0

Show your calculations. A

A0
N
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SO

2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
a year.”

a. What mistake has John made?

e didn't (cok at the aumnoun t Of /
hax cach satoufu He \\ss’t
(ooked ot whnat vind of N> madL Ct

b Wha¥t is the correct mode of the salary? M—QD-D—

3.:a. What is the median annual salary at TechScale? @ L'} O ) ObD / /

b. Explain how you figured it out.

| toole the 4F™S %

placed thew
fm !Qggt to_goveatest + Fo’uvwbﬂf\l(

4. Which of the three averages, mean, median or mode, would you use to show that the average {
wage at TechScale is very good? /
. Mean
Explain your answer.
3 . f \
1t oy e Wiohest H's of The (—
M, yed - ¥ nedae . /

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change? /0

Median + mode X
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Suzi’s Company S 6
This problem gives you the chance to:

« calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual
salaries.

{ Job Title N’;’::Zzof Annual salary Total
Chief Executive 1 $100 000 $100 000
Marketing Manager 1 $80 000 6/ 0,000 4
Production Manager 1 $80 000 ¢o,000 |/ (
Technician 3 $50 000 $150 000
Office worker 2 $40 000 $80 000
Assembly worker 5 $30 000 | o/000
Cleaner 2 $20 000 Y000 V|

Total 15 Toul | 680,000 |/

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question la to calculate the mean annual salary for the 15 employees in the
company. Give your answer correct to the nearest $.

Show your calculations. ' T
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S6

2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
a year.”

a. What mistake has John made"

Becayte T4 is pot how Mafly mo ke /
‘Hﬁﬂl’ Y] /fCh {OJLOQO—LJ ' 307@00"2 /

6 v’
b. What is the correct mode of the salary? 30/ 0o
(0
3. a. What is the median annual salary at TechScale? ) ;/ {O LO O e} )(
v

b. Explain how you fiixred it out.

Yu (U5 [o0R and Ste x D

4. Which of the three averages, mean, median or mode, would you use to show that the average

wage at TechScale is very good? / '
medbn A 14t

Explain your answer.

because Lf you wWadl people (‘)“O
WOM HWEQ wm/r USe Lhe mosr [t
whj /‘}\ L§ 7”1{{ MPO(lotf]

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change? / (
maole

@
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Suzi’'s Company Sz

This problem gives you the chance to:
« calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual
salaries.

Job Title NZ’ZobRel; of Annual salary Total

Chief Executive 1 $100 000 $100 000

Marketing Manager 1 $80 000 bogod |V (

Production Manager 1 $80 000 %<0 000 /

Technician 3 $50 000 $150 000

Office worker 2 $40 000 $80 000

Assembly worker 5 $30 000 850,000 4

Cleaner 2 $20 000 %Yo, 000 ’
Total 15 Total | % 420,000 |

v

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question la to calculate the mean annual salary for the 15 employees in the
company. Give your answer correct to the nearest $.

$_97 14y 0

Show your calculations.

/
-11680,000

/DQ r’b\Q/ %, S0, %O/KGIM
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ST

2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
a year.”

a. What mistake has John made?

I don’t Hhiol he wade 2 S +rbv.e ; Hre viaolAR  t%

X ®,

5 %0,000.

50 000 U

b. What is the correct mode of the salary?

3. a. What is the median annual salary at TechScale? 4 £0.000 x O

b. Explain how you figured it out.

po pn‘\' the Yo in_ oider e onn \east ‘o

red X etq¥ b nyddie .

4. Which of the three averages, mean, median or mode, would you use to show that the average
wage at TechScale is very good? / l

Explain your answer.

_ (hecavse ix LNOWS Nou Mﬂ%& sa\eqy. >( O

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change? ) l

S
e mod\e wean’t N cla s
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Suzi’'s Company S 8
This problem gives you the chance to:

« calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual
salaries.

Job Title Number of Annual salary Total
_people
Chief Executive 'l/ $100 000 $100 000
Marketing Manager //i/ $80 000 430,000 v [
Production Manager 1 $80 000 130,000
Technician 3 $50 000 $150 000
Office worker 2 $40 000 + $80 000
Assembly worker 5 $30 000 § 190,000 k/
Cleaner 2/ $20 000 %0, 000
Total 15 Total | §530000 K O

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question 1a to calculate the mean annual salary for the 15 employees in the
company. Give your answer correct to the nearest $. , _
s 38667  *o

Show your calculations.
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2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
ayear.”

a. What mistake has John made?

HL soml et  Yhoo wire 3 .€0 s Gna @‘LL L of QAI%L\’\AI‘V\QQ_

dﬂ bu* ¥OW ackgk“;( Iqam 4o {60k ‘(V\ '\A‘\c ll“\ﬂ\jﬁf o.f ng@ Co\“MV\
4o £v\,! Mink  Aswer, /

320,000/

b. What is the correct mode of the salary?

3. a. What is the median annual salary at TechScale? 4 4o 000 v

b. Explain how you figured it out.

Fws-\ vowu wiow\d 5\(,1\ oX Y botlevn and Losw  \naw Ma.n# PQ-‘& Men

ove  Gnd  you wowd  dabe Mk weny  off the dop k] fan /

%Q-" ‘\-0 ‘“’\L W\\‘A.)\‘b \/

4. Which of the three averages, mean, median or mode, would you use to show that the average /
wage at TechScale is very good? i
Medlan v

Explain your answer.

That art 6 won  sis Mok cve dnos alk dsble of F0 Hhmy

bklf\’ -\’1/\ut tre v;\ng close Wbl WO, L 9L 0

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change?

™M Q&‘O\V\
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Suzi’'s Company 89
This problem gives you the chance to: ~

» calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual
salaries.

Job Title N:;Z:Pel’;of Annual salary 1 Total
Chief Executive 1 $100 000 $100 000
Marketing Manager 1 $80 000 § 80 000
Production Manager 1 $80 000 fI) 860 Q00 \‘/
Technician 3 $50 000 $150 000 [
Office worker 2 $40 000 $80 000
Assembly worker 5 $30 000 $ 150 00p
Cleaner 2 $20 000 $ Y0 voo|V
Total 15 Total | $ 680 000 |, /

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question 1a to calculate the mean annual salary for the 15 employees in the |
company. Give your answer correct to the nearest $. )
s $45333

y

Show your calculations.

‘99 590 ¥ = Ut; 32 3.3
L0 Is [ 680000

2 am A 60

so-eoo- ¢ 0

1%

@0 > 45
ey i
s 5¢
@70
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2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
a year.”

a. What mistake has John made?

mcim Mﬂmgé‘/z//f—z&m 2 /Zé',w

ZZZW 386,000 it arm ﬁ erts Mw aﬂ"!&z’/é‘ﬂi

l/&&}_ﬁé n,% ﬂfﬁf4({//ﬂdwm / 1
% 30 con v {
[

b. What is the correct mode of the salary?

3. a. What is the median annual salary at TechScale? $ Yoooo /

b. Explain how you figured it out.

/Z*WM -«w@é_g‘&[_,é‘%t R, . /

;f/é, W#M,af: ,dm, g M;ﬁ@é ALTHAL ‘,,/M/

-Z‘/ZM “Pigrtess . d%@é««»txﬁ/% ’a/&%/‘ﬁ?‘,.»
ﬂ’ %&/W 4 /fmwé«‘f/f L ;::.// Y s, «4;‘_

4, Wthh of the three averages, mean, median or mode, would you use to show that the average /

wage at TechScale is very good?

Explain your answer. {

QW /f/{-v,/% -%wjﬁl »»;zg{vé 7T A,

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change? f I
W P 007
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Suzi’s Company S 1 O
This problem gives you the chance to:

» calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual
salaries.

Job Title N;'Zob;l;()f Annual salary Total

Chief Executive 1 $100 000 $100 000

Marketing Manager 1 : $80 000 $ 0 O00 v

Production Manager 1 $80000 | ¥ OO0 , |

Technician 3 $50 000 $150 000

Office worker 2 $40 000 $80 000

Assembly worker 5 $30000 [ S OO0 v ’

Cleaner 2 $20000 U4y OO
Total 15 Total %%OTOQ() /

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.
b. Use your answer to question 1a to calculate the mean annual salary for the 15 employees in the
company. Give your answer correct to the nearest $.
| s 650 ,0Q0

Show your calculations.

\oO 4%%% *

Copyright © 2007 by Mathematics Assessment Page 2 Suzi's Company Test7
Resource Service. All rights reserved.



S10

2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
ayear.”

a. What mistake has John made?

He did  pr Count MOLD avioas g !
e od, Yrese  saloxien. S

b. What is the correct mode of the salary? NV

v/

3. a. What is the median annual salary at TechScale? \)Ul OO( “)

b. Explain how you figured it out.

L RUF AR N Oodel Cune) — /
Soord e ove iy e cenddle

4. Which of the three averages, mean, median or mode, would you use to show that the average

wage at TechScale is very good? f
nean V|

Explain your answer.

Nean 15 4 gome oG G
QAN e,
<)

X (&

S. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change? X o,

Mediaa
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